'ffb’ the foubwing Show\as Mweh wﬂi asneeded.

e heights (in inches) of eight tomato pl@nts are: 36, 45, 52»‘4% 41, 50, and 48
a{ Find the range, mean, median, and mode(s) of the tomato pl t heigt fz

X* 4395 MOde. = NONL ’ '

2. You and your friend have a friendly competition going on about the scores on yaur nath quizzes.
your scores for the first five quizzes are given below. B
Your quiz scores: 18, 16, 19, 15, 17 |

Friend's quiz scores: 20, 20, 13,12, 17 | + I

a) Find the mean, meduon cnd mode of both sets of data. Frien C\S <

™Mid = |
b) Do you or your friend have the higher mean? Who has the highest median?
NoU have aoner nedry,

e Aans aye e oStunmgus
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3. Inwhich dataset is the median value equal to the mean value?

a) {2.4,6.7,8} N\ c) {16,17,18,19, 20} T
b) {12, 18, 20, 23, 24} () d) {50, 0, 65, 75, 85} '

-
4. Below are percentages of all doctorates earned by men and women between 1980 and} .-."

College # Women Men -
Boudoin 45 48 )
Carleton L 38 61 *

| Grinnell 34 47
Middlebury 36 46 . )
Oberlin 20 34 ;'

a) Whatis the difference between the means of the percentages of docwrafewe nec
men? = - :
K 315 X = M) 47 =34, S, =
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,a‘af is the difference in the ranges of the percentages Qf do_gf ates ear
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32 .54;.'37, 12,30, 72, 13, 49, 80, 72
Median: 2.5 Mode: 2 Range:
Standard Deviation: 2 1.5 ya
(32 -s0.1) = 3.0\ (1-50.1) = 11S o) (2-500) = 1370:M]
e es. s 15,21 (30-50. N7 You 0| (49-50.) "= |, 20
(31-01) = 130 .0 (-0 ) = 959,22 (en-Sol) = §oH,0)

7. 34.9,23.5,83.7,658, 349,20 Sy = i‘e’]ﬁg"" C S

Mean: 42,9 Medan: 2
Standard Deviation:

LA - 42.8) = 15312
(23,5 -1%.8) = 4170

(&3.7-43.2) = 15972 ,0) 15. 3

(5.8 - 4> Y = 4o\
8 You scored an 65%, 84%, 75%, and 95% on your last four math tests. If you want to earn an 85% in the
class, what score must you get on your nexi math teste

(aS-re,L{f")S+QS EeX 205 219 4 X= Yyzs§
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%‘w scored a 88%, 76%, 62%, and 89% on your last four science tests. If your nexf fes’rm
ossible t@ ‘average a 85%¢ |

- 602 893 2w - 85

=510




